dw. w>w>m>m§w %Mdg HMOEZOHOO—GPE %uéwmﬁﬁ roz_wwm
"Mid meamnS. _..ua»EE»ao: - moEoEcs. N@G

OcE.%. w. ﬁoar in e_a__:o»_ asmEaa..Em , w@Eou»s.. _<
m:s._aﬁ Z»Ea. &55_2._ asm_uoa—,:-m a_a_.Eo&q_sE_am.ﬂ m__EaQ Oona. wﬂnﬁn m3

st 2—»_.5 20 v&a..uuawb.:w Ucnﬁsé. ﬁ ﬁn. ‘,

83
gw:.__oﬁoum to the m:ao.:m.
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~ Zoommmmaw and sufficient condition
a. Concentration of each component should be same in two vrwmg

b.The pressure should be same in two Eﬁwﬁm y

c.The 88%383 should be same in two phases e e
d.The chemical potential of each ooBvosoE should be same in two phases
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for onE__w:sB between two phases is ~ | Understanding

5. at constant temperature and pressure , the decrease in free energy isa

measure of

a. the maximum work

b. the maximum net work

¢. the unavailable energy

a the loss in capacity to do work
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3. Chemical potential is

a. an extensive property
| b. an intensive property
| c.a path property

" d.a reference property:
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12, which one of the following is incorrect with respect to partial molar Eovoaam..v, ,

a. they are intensive properties

b.they are always positive
c. they represent the contribution of individual component to the solution properties

d. they vary with ooBvOmEoc of solution
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% the value of activity coefficient for an ideal solution is

a. one
b.zero
c. three
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6.the equation dU =T dS—-P dV is applicable to infinitesimal changes occurring in

a. an open system of constant composition
b. a closed system of constant ooBvOm_aon
c. an open system with change in oo:%oﬁﬁo:
@ a closed system with ormnmo in ooBvom:_os
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mc—é Any Two of the following,
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02.20 Gibbs Duhem’s an:mcoz from mczamaoam_m.
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What is modified Roult’s JTaw? How we can use it in vapor liquid om_oz_wso:o
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. ?:%Su_m &a tolune form ideal solution -at 373 K, their vapour Emmwﬁ. are

: ., e _oa 74 _%m 8%032&% Determine the composition of the _EEQ and <wcoﬁ

in aaE_&sE: mﬂ u.\u K and 101. uEum
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Solve Any O:m om nro mo=o€_=n.
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| A,Vv, i mﬁa the Roult’s law. mroi that it is a msﬁ__maa mons of Lewis |§a 11 _.Eo
= va ‘Will it be possible to ?.mvﬁa 0.1 m* of m_oowo_.éﬁon solution b :m c cw m
m | alcohol with 0. 07m’ ~ pure water? If not vom.mpzo, what volume should have been
m ,.B_xma in order to prepare a mixture of same mqozﬁr and of r w& volume .N. ,
, lmrm. ,H Umsm:% of ethanol Ea water are 789 and 997 respectively. 555 molar volume of
S | ethanol and water are 53.6* 10 m*/mol and :w*_c-u m’ /mol respectively at the
o :
m , a,amnma 8:68:5:. ‘
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